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Exercice 1
Calculer les limites suivantes :
lim 3x* —2x3 +5x% —6xX+7 : lim 2x°3+5x2=3x+4 : lim =5x°3 +7x%+2x -1 ;
X—>+00 X—>—00 X—>+00
fim 4x3 —2x? +3x-5 lim 2x—5+6x* iim 5x3 —2x% +3x—4 i Y3X+4-2
x>+o 52X +5x° " xo03x2 —2 44X T xotw 2X+5 oo 2X+1
. 3P-2x+4 . 3x-4 . 6x*-5¢+2 . 1-3¢ . 1-x
lim X ©lim ©lim ©lim
x>0 2X—3X2 +6X° x>0 2X+T T x50 32 43X +2  xowo 2X T xoco

Exercice 2
Calculer les limites suivantes :

2 2 2
IimX 5X+6 ;Iim2 X—X < lim 14 +5x — x ;“m\/x+  lim \/2x+1 1
x>22x% —=3x—2 o114 x—2x2  x>2 X3 +2x2+3x+6  x>3 X—3 x>0
2 2

im 4% —x-3 \/x +5-NAx+l L J1-3x—5+X im (1_X) X“+1+4
x>12x% —3x+1 ol X2 —4x+3 x>1) [y 18-3 x> x? -3 ’

X—3 . 2\/x_+1 VX2 +4 VX252 \/_ V4x—-3-X

lim ©lim - lim :

x53 X+1-T=X x50 oy 11 Jax? +1 H1\/1+3x J3+x x>3 X+1—-5x—-1 "
Exercice 3

Calculer les limites suivantes :

., Y. _ 2
lim2-L . jim 212 MRELE Ay GHEGRL g3~ X+ . iy 22X
x—0" X X x>0 X x2 | xor X-=1 x>1 X2 —3x+2  x22. x°—8 X_’T(X—Z)Z

2X—3 Xx—4 2—X ) 1+ X

x“—>r2*(X—5)(X+l) ; ><|Ln—13|x+3| ; x“j: 4-x ; >!Ln11x3_x2+x_1 ’

Exercice 4

Calculer les limites suivantes:

lim Vx2+3—=x : lim v4x2+5-2x : lim Vx> +1+x ; lim Vy9x® +5+3x :

X—>-+00 X—>+00 X—>—00 X—>—00
. 2 .o 2 . 2 . 2 X
Im A/x“+4-2x ; lim y3x“+2-3x ; lim 5x++44x“+1 ; lim y1+Xx“+= :
X—>+00 X—>+00 X—>—00 X—>—00 2
lim VX2 +x+1—x ; lim 2x+4/4x2+x+2 : lim V9%%> —x+1-3x ; lim x+1++/x®+3x+2 ;
X—>+00 X—>—00 X—>+00 X—>—00
Exercice 5

Calculer les limites suivantes:

/ [x N / 2 3
lim WX+2-2 \/3X+3+\/3X 2- 5 lim XVX+3—2X - lim X+1+\/X _1_\/)( +1

X—>+00 x—>2 X—2 " Xtoo 3)(2_)(_]_ ol )(3—]_
lim \/16x2+x—1—\/25x2+3x+2 ©lim 3X+5-+16X2 +5X—7
X—>—00 X—>+00
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